 SEXOHEGREAR)

rt+a)x+b)=x*+(a+b)x+ab (x+a & x+b DFY)

L2 () AKX, a3, bW 4DEEZEPD,

(x+3)x+4)=2"4+B+4)xr+3x4=2"4+7r+12

AX[AT, a?s—6, bHB5DLEEND,
(x—6)x+5)=2*+(—6+5)x+(—6)x5=1x>—2—30

2N 1\ . (2 1 2 (_1\_ », 1 2
(3) <x+3><x 3>—x+<3 3>x+3><< 3>—x+3x 5

KA AT, ads—Ty, bW —2 THHEEZT,
(x—Ty)x—2y) =2 +(—Ty—2y)x+(—Ty) X(—2y) = £ —xy + 14y*
AR T, 22528, ad —1, bAB5THHEELZT,
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(
(r+a)=zx*+2ar+a* FIDFT)
(x—a)?=x*—2ax+a* (D))
(r+a)x—a)=2x2—a* (fn & #Z D)
WORER L% S\,
(1) (z+3)z+4) (2) (z—6)x+5) (3) <x+%><x—%>
4) (r—T7y)x—2y) (5) (2x—1)(2x+5)

2 +7x+12

ri—x—30

2, 1 2
x+3x 9

22 —9xy+14y2

(22—1)(2x+5) = (22)* +(—1+5) X 2x+(—1)x5 = 42> +82—5 B 4x*+8x—5

KO AR L2 S0,

1) (z+2)x+3) 2) (z+4) x+8) [J3) (z+6)(x+1)
[)4) (x—3)x—5) [6) (x—1)(x—9) [l6) (x—12)(x—4)
CI7) (x+6)(x—3) [1(8) (x+4)x—5) [9) (x+8)x—7)
[0 (z—1)(x+5) ) (z—8)(x+6) (002 (x—3)x+2)
(13 (e—1)Na—2) 1 (y+7)y—3) (115 (m—5)(m+2)
106 (t+4)t—6) a7 (6b—10)(6—8) (1) (a—4)a+15)
KOKA BB L7 S0,
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1) (2x+5)2x+1)

CI4) (4m+3)4m—6)
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(4) (a+7)* CI5) (x—4)* [6) (x—5)*

(17) (x—2)* [18) (y—10)* (19 (x—y)?
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[4) (8x—2)? [1(5) (4a+b)* [l6) (bxr—2y)*
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